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Base your answers on what you studied in | sLo¥13500 -2 Cew)s Lo s gid -2

Biology:

1- Choose (A) or (B) then,
Write the scientific term:

(A) a flat bone pointed at its lower part
which is cartilaginous.

(B) Enzyme found in large amount at
neuromuscular junctions which make
membrane permeability to ions returns
to the resting state.

2- Choose (A) or (B) then,
Mention the site and the function of:

:2\,«}5’! pX | ",.C%i

@ () 9l (1) o 13t iyl - )
¢ dle JIAN elalt allaaall LS|
R Aiegastalas dotac (1)
B9l it g5 Jaul
JLai¥ | dolis 3 53500 @391 ()
e Juony Aliaall eaall
aaUielag annlasssl el
grlall lgadg 1 dliaall

(@) 91 (1) ottt gt i § st =Y
: Aadagh g olSalt HS3 @3

(A) generative nucleus Bl gallBlgdl (1)
(B) Polar nuclei Lifgd) Olcedaatt Hlifgd! (o)
(it s
Site o =~ . NTFT e &
Olsat
Function |
dads 41
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3- Choose (A) or (B) then, What is meant by: | (&) of (1) ot gt iyt ¥

(A) Breeding

(B) non-protein amino acids

1 A9 Ayaid‘)sm p:i
AGLA an 1 (1)
g ) i Aciua¥l pales Y1 (L)

4- Choose the correct answer:

In stages of oogenesis of human female, the
cellsincreaseinsizeduring...................

Multiplication phase
The growth phase
Maturation phase

Metamorphosis phase

®0e6E

5- Give reason:

+ Jadd Aovonall Al ¥ o) - ¢

Ol g (0 685 e LM aans 3la ju
....... s o b ol Sl b

w2t &
it gz ()
TP

The lymph nodes present along network of | Jsbo e 4 glaadtl azatf s 3

the lymphatic vessels

o glaa I de g ¥ Al
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6- What would happen if.............. 2 § eees e Sodma 1300
Content of the basic amino acids arginine | (puca¥! (yuamtl &S 2Bl
and lysine was decreased in histone 2 Oy (sl (o lal
proteins. A0 glugl Ol g !

7- The given figure
represent the
splitting of zygote
in human female.
answer the
questions.

S Gedt IS g
Adpaal) diangd! mlal
PP (g
PSR ) s gud (2

s AGY) A e

1%': when the morula implanted among the PR Ve vi [JRVPE L PP ¥ g

2n: what are the changes occur in no.(1)
in 4™ pregnancy month? Why?

structure No. (4)

§(8) iy s

i U O i Lo : Lol
2T A (V) s ) B
Shaled g Sdanmt ! (po gl 1

-1

-y
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8- Explain the effect of ACTH & ADH on | ACTH g0 8 (40 JS j=0l g -A
human kidney. OLud ¥ dS e ADH (90,4 4

9- “Unknown gene (X) consists of 120 pairs | (\Y+) g0 3550 (X) > -9

of nucleotides” - O 9dS 5ol (o > 95
Answer the following: LAY e

1*: i. How many amino acids used to i ¥l poleadl e Le o) 2 ¥yl
synthesis a protein from this gene? | (39102585 o2 d5 A
St 14 (e il
Sl Olaltsue Lo Y
27: Mention the first triple codon after Sountt gt
the promoter on DNA during mRNA | 5as g 52858 5,a8 J40 830 : Lol
transcription. MRNA s wie DNA e

11 . How many twists in this gene?

((Q-w1ja i 1lJ@ig o



(A ulod S AR o Lo 31 - Aaladt Ay 3L Al 5kl ALEYN 3algs Lot

10- Choose (A) or (B) then, define:

(A) Patella
(B) The motor unit

11- Choose the correct answer:

The first bulwark in the resistance of
pathogens in plant is..............

The epidermis
The formation of tyloses

The cell wall

®O06

The cork formation
12- Explain the following:

water has an important role in life cycle of
ferns.

[6]

@3 (22) 9 (1) ol aad | o il -4 o
@
aas (1)
RSyt Bas 91 ()

+ Jadd Aovonall Al ¥ o) =\
doglie 2 Jg¥l sall dajils

E VTR PRI ()
skt pusss (@
et ()
osanss (3
e oIl Lo ud - Y
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13- What would happen ? § eeee e Srdony 13ke VY

When mixing nucleic acids from two different | ¢y s pe &g gl poles Y1750
sources, then heating them to 100°¢ finally | 5,1, 1 as s 2by @3 (il
the mixture is allowed to cool.

e Oldadsll maw @i p Ve )

14- Write the scientific term: t ole JIA elal mllaaad) LGS - ) €
A series of specific defense mechanisms | acawmsitiae@at! filu gt atule
that resist the pathogen. A glaadl LSt Ly pgas o)

NE-R e i\ quETPN | Ole.Y‘ daglioet
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15- Choose the correct answer:

The infective stage of Malaria in human is....

oocyst
sporozoites
ookinete

merozoites

®O06

16- Choose (A) or (B) then, compare between:
(A) The function of natural killer cells &

mast cells.

(B) Chemokines & Interleukins.

+ Jadd dvouall Ll ) -\ 0
LOMI (o pod Guast! Hslall

............

Ol 9395 9!
‘:,SJ.:J‘ oekall
il g pead!

() 91 (1) ot gmud ) d 251 =AY
PR B e
AGLAY LS 19 A slealf i (1)
(Aads gl Co (0) sl
O gl 0¥ g GLLS g0t ()
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17- Draw a complete labelled diagram for | SLiLedt Jols s @yl =\V
the structure of DNA molecule. | - DNA s 52 cuS 55 udss

[9]
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18- “The graph represents some changed may be

occur to the glucose in human blood” answer:
increase Vv
gLyl T g

natural level

pand (i I KA gy - VA
Jaed gD gl facionad ) Ol |
LB puks 395 sl S

u y

u’LJ-.‘-“’ Jaze o=
! wd

decrease
oalaasl

1" : name the hormone which is responsible for:
1. Change the position (v) to (u)?
ii. Change the position (x) to (y)?

2": What is the normal level of glucose in
human blood?

3": The level of glucose sugare-sometimes-
increases over the natural level in human
blood . What are the cells which responsible
for treatment of this increases?

X

C)}ﬂ)@:‘p.u‘m.\}:

s Juas |
(02) 1 (0w) (3o g8t
(J) A1) (o g3t Y

gsﬂusdwhﬂd-\_uﬂuz

SO p3 2 3eSslnd| S

39S gl | S A Lilis 3135+

gaedal! Juaadl e plus¥l pos
dlaas daisnedl LMt La

$8aLs 31 ol

¥ o
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19- Choose (A) or (B) then, Write the scientific term:;

(A) In prokaryotes much smaller, circular
DNA molecules are widely used in
genetic ingeneering.

(B) Reaction takes place in ribosome
which results in the peptide bond
formation between the first amino
acid to the second one.

20- Choose (A) or (B) then,
mention the importance of it:

(A) The pulling roots.

(B) Foramen magnum.

(9)3; (1) ot omaadt s i pi5) =14
t dele JIA01 alal! pllaiaell LS @
DNA (yo a1 8 piio Oy (1)
e pasiud Blgdl Sldgl B
S el duighl (2 pulg Blias
9 Ol g g 1 A Sty o i ()
paet (g dlayly (oS5 die
.%g.‘.\!l&u«!@&m?‘

() 91 (1) ot gmaadt iyl =Y
: C&M‘ijpﬁ
3aLad ! yousdi (1)
S i ()
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21- Choose (A) or (B) then, give reason: () 91 (1) ot gmiad ) |y =YY

(A) Presence of sertoli cells in human ' ‘Jbt‘:-'

testis. 2 A rw LM 3gag (1)
OLud M S5 deas

Lo 533 1393 il coaly (o)
g e 33 GlLA B

(B) The pollination process plays a double
role in Angiosperms.

22- How do control the sex of farm animals | adise yuis 8 @S0 (o a8 -YY
newborn by laboratory means. Sldens doy padf SO gom

r1a-Gys i 123 o
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23- Choose the correct answer: + dadd Aseouall Dl W) G50 - VY
The cells in which major G195t (y g Ol jon on g3
histocompatibility (MHC) protein | ... (PLVER T SR {
molecules found are........ o

@ Monocytes & suppressor T-cells T adaciad | Al 19 3152 1 5 @

@ B —cells & helper T-cells Ty 5uae b L g e S| B @

@ Monocytes & helper T-cells T St et | 5L 19 315301 B @

@ Macrophage & B- cells B a5l LM g 5 503 Acant ! @

24- Mention the uses of human genome to | o g sid! pgicint! Aot Lo =Y
improve the offspring? S| yoann

Q- gja i lJeig—o0J
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25- The given figure
represents a
virus , answer the
following:

st

1. Name this virus.
1. Which element fond in (1) and does not
found in (2)

111. What would happen if this virus
attack a bacterial cell?

ISt Jie YO
do i (Jalaal
Sl g g2l

s gua (2

oo e
s 4G Al

©)

wa.}ajﬂf.\.mﬁmu:;!j
S 501 b Yooy 001 el Lo : Lils
(V) S B Ja ¥y (V)
g el 4 e 131 Ertong fake + LIS
T i ds

26- Draw a labelled diagram for the
structure of human vertebra

Jols dadd gyt mdg -Y1

3 a8t S p0 Sl
SOLud¥ ! (8 Arelaal
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27- “The given figure represents the primary
and secondry immune response” answer
the following questions:

1. Name the cells responsible for antibodies
formation in 1* and second infection?

ii. In which curve symptoms appear? Why?

5

() S5 g (B 5alrad) pluun W1 58

concentration of antibodies in

the body fluids

Aldu¥ ) S KL b gy - YV
Sl g Ad oW Ao Liad!
1Y) e e Sl £ 9D (2

L 9 2
second
infection

/

P

Jo¥ (3 a7
first
infection

Of Wgtuall LSt el Lo : &,‘1
o8 Baliaatl aloua ¥ (4
Sy padlg J ¥ (o pal!
o2yl peliiu e (g1 b s Lals
$13Led g Sy pad
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28- Choose (A) or (B) then, give reason:

(A) Two twins may be identical in shape
and sex?

(B) The coil is used in birth control?

() 91 (1) ot gl d iyt = YA
e @d
B 319 Gy Gallais 13 (1)
oty St
et et ol i (o)

29- Choose the correct answer:

The stimulation maturity of lymphoid stem
cells to T- cells and their differentiation
into different types takes place inside

Bone marrow
Spleen
Thymus gland

®06

Tonsils

30- What is: the effect of calcium level
decreases in blood concerning the
muscles work?

+ Jadd dovouall Al Wi il -Y4
LM acnd fra ot
LS 1 Ao diont A glaelt
Lgelsdl oIl Lajaletyarils

A gaad (S At do g o5 Lo =Y
00anl Jes Ao pd) 2
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31-

®O0E

32-

33- Write the name of produced disease from

Choose the correct answer:

The reproductive floral whorls in the

flowerare .............

Androecium & calyx
Androecium & corolla
Androecium & gynoecium

Gynoecium & calyx

Write the scientific term:

A particular sequence of nucleotides in
DNA is transcribed to a complementary

sequence in triplet on mRNA.

each of :

- Acute decreases the secretion of thyroxin

hormone In adults

- Increases the secretion of thyroxin

hormone.

+ Jadd dovowall Ayl i) =Y
Aol 5 a3 3 Slla e s

........ o SIS
odstgtant (1)
syt ()
ity pltatt ()
sty pliatt (3)

ol JIA) alall pllaiaal| CGST Y'Y
SLAM B Ol 9.dS g |l
gt @3 19 MRNA e

. DNA Loy yi asiye

4
P08 JS e g G 2 el ! 81 YT
D50 5315818 sl gzt (1)
Ol B (pus g il
Qg8 5131 2 B3t (@)
- g |
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34- Choose (A) or (B) then, compare between:

(A) The granulated white blood cells
( concerning types and
distinguishing, between them )

(B) Tonsils & The spleen
( concerning the site — immune function)

(22 91 (1) a3t i 500 Y€
PoR B

O dat tslacd add LSS (1)

(L ety Lge 1931) o

Co (0 Jlandally OL3)sl1 (2)

(Bueliad) 2ads o319 OlSed)
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35- The given figure V&U represent two R i (Y (A {38 -R
different parts of DNA after treatment | ;i > oMiany o ¢« G
with special enzyme das DNA (o (icialione

(&)
3 i
R remr TTCGA

Y
(@)
U \%
(=) (0v)
I** :1. Name the enzyme. S ¥ 188 mal Lo -1 ¢ ¥y
ii. Name each of (X & Y). 3(0) e (g) 0o US o 2 -
2: What is the name of enzyme which | 4% ¢! s2¥! i oSl Lo
stick ( V&U)? what is the name of ((02) = (0] 3t e
produced DNA? 32303 DNA el Loy

36- What is the role of umbilical cord for | ! Juot! dpgas it yodtt Lo =¥
human embryo? SO (i (98T ¢ LS

r19-wja i lleig—o
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37- Choose (A) or (B) then, Write the scientific term:

(A) Flowers may be grouped on the floral
axis into various aggregations

(B) Hormone inhibits ovulation and
stimulates the maternal mammary
glands to develop gradually during
fertilization of ovum.

38- Choose (A) or (B) then, give reason:

(A) The two nucleotide strands of the
DNA molecule had to run in opposite
directions

(B) DNA is replicated (duplicated),
Before a cell divides.

D (0) 91 (1) o ) i 3 -¥Y
+ dle J101 ol dlasaal LS|
b o e gike Lot (1)
(3 ygmnall e Hlay¥l
ding pa 9| pa e Jons (9058 ()
5B i gl e A sl
iy gl liad | Wl

@3 (22) 91 (1) ol aad | o 521 - YA
P e

0352 DNA sgja Uasy s (1)

3 (uSlae g b Leania]

J& DNA awS aclats (w)

Alaas o 2 adsd ) ius O

39- Choose (A) or (B) then,
mention the importance:

(A) The micropyle in ovum

(B) The micropyle in seed

(@) 91 (1) otV imiadt i i ¥4
¢ Aad gl g @d
Sy gt s (1)
B yiud! s (o)
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40- Choose the correct answer: + dad8 Aseoual) Wala W) Ji5f -
The receptacle may share in fruit formation as | & ,med! (5953 (-2 S & i
... o e " NTPT T aaeelLl &
@ Pea L @
@ Pomegranate -Obe ! @
@ Bean -Jgal! @
@  Apple )
41- What would happen if.............. 2 §ees e Sdony 13 - £
Exposure of the vascular system of a plant | Le ol b Sle gt jlgatl (oo ai
to cut or to invasion of pathogens. sy | LIS (yo g3l o adazld

Q- gja i lJeig—o0J
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42- Explain: r ol Lo pud £
Reproduction by spores has several Bue 4% @i Tl 2 ILSLY
advantages. O e

43- Draw a labelled diagram for the SLALE) JolS @iy iy - €V
structure of sperm. RSP PVES (P %

r19-wja i lleig—o
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44- The given figure represents the knee
joint , answer:

I*: What are the characteristics of
structurs from (1-4)?

2": What type of joint in this figure?,
what is the type of motion in it?

A uade L S gy -6
z@?'my‘@%iﬁégﬁg‘ﬁ
S Ol jan oo Lo Et,i
$(8) A1)
Sdunial! taa £ 43 Lo : LaLS
94\.} Z\Sj.aqﬂﬁjl Lﬁ3
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45- If the sequence of nucleotide on MRNA | &5 5.dS 5001 aa G 3IS 13| -£0
as the following : ¢ LS MRNA day 3 e

5....AUG GCU CCA AAA CCA GCU UGA ........... 3'

answer the following: aonsiad| t(RNA g5l e L - ;rjn

i. How many tRNA types which used to el 1 depi f
translate this sequence? @@ OlibgdS gl alis st Lol

11. Write the DNA sequence which formed 4ois g 631 DNA oy

from mRNA. Name the used enzyme? | #==' > &= MRNA (e

1 9IS gl i3 LIS 5 S
JoaSeatdt da pcid| Le
.&Lutt DNA day yad

iii. Write the nucleotide sequence to the
complementary strand of the previous
DNA ..

r19-wja i lleig—o



